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cho! H|ojE| =2 )

df.rename(columns={"7|E0|Z":‘All0| £}, inplace=True)

if[f

GAZ

crime.rename(columns={'3=0|&":'State'},inplace=True)
O:||X1| I:‘||O||-:-'| crime.columns

Index(['State’, "=A|O|E", 'R, "ZZA", "AQl, H7F, "B, "Z&, "MAHZE[, FAHAY,
T, RIFEE,
dtype='object’)

http://203.247.53.31/Stat._ Notes/example data/US _crime.csv

FOIE J=A0IE AR 34U #e g 3= =Y Hargz  FAEY EE APEE

ALABAMA  Abbeville 2645 1 1 1 2 7 63 21 39 3

ALABAMA  Adamsville 4481 19 1 0 7 1 321 58 252 n

ALABAMA  Addison 744 1 0 1 0 25 6 17 2

ALABAMA  Alabaster 31170 44 0 2 1 31 640 70 544 26 =

ALABAMA  Alexander Cit 14692 119 2 16 12 89 661 121 510 30 H._'E—E—*q freq table (E—Xl‘%' Ilj_—J'\—)
ALABAMA  Aliceville 2419 7 0 0 2 5 48 16 26 6

import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/US_crime.csv'
crime=pd.read_csv(url, encoding="ms949’)

PDSeries.value_counts()
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Hes BIEEA Z20E ES5IHTH,

crime.columns
crime.State.value_counts()
Index(['F=0|&', "TA|O|&, QI 'ZZALZY, ‘Aol A7, 2", =& THAHZ|', "FAHEIY',

L, RIFET, PENNSYLVANIA 853
dtype='object’)

TEXAS 604
ILLINOIS 506
NEW JERSEY 479
crime.head(2) CALIFORNIA 462
MISSOURI 445
FOIE  EAOIE o4 B Mol Y PE BY AME ITANY  FE YIS NEW YORK 348
0 ALABAMA  Abbeville 2645.0 11.0 1 1.0 2 70 63.0 MICHIGAN 343
OHIO 343

1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0

58.0 252.0
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704


http://203.247.53.31/Stat_Notes/example_data/US_crime.csv
http://203.247.53.31/Stat_Notes/example_data/US_crime.csv

I

MHE XZstH pandas Series 4102 MZEHEICH

PIEA X0, 1

Ol == 0|Bo =2 EICY

freg=crime.State.value_counts()
freq.head(3)

PENNSYLVANIA 853
TEXAS 604
ILLINOIS 506

Name: State, dtype: int64

F0|8 QIEAE HH2 OHS2{H 24 Series ¥AIZ OB =2 Ao
2 s 5t & QIHIAS A 0| S22 ali0f BHCf

HIOlH 37| = FE

DF.sort_values(by=[d=Hs""HEHF2' ], ascending=False,
na_position='first', inplace=True)

pd.DataFrame(PDSeries)

DF.reset_index(inplace=True)

freq=pd.DataFrame(crime.State.value_counts())
freq.reset_index(inplace=True)
freq.head(3)

index State

0 PENNSYLVANIA 853
1 TEXAS 604

2 ILLINOIS 506

by=[ ] : by=2 A&35}X| GOt EICt,

inplace=True : §& 427} s HIO|H =g 0O|E2 = XMEEICH

ascending=True : C|ZEO0|E & 37| &= HHO|H AZotX| 2otz EICH &
X| 9=0|™M ascending=False AtESICE.
na_position="first' : ZZX|7t Y& XY 2tof| LIA| &, C|ZE &= OtX|=4of|

523

ol

crime.sort_values(by=['F0|&','2I51£"], inplace=True)

crime.head(2)

FOIE EAOIE eolvs FEARM el I ZE FY xjiuz

113 ALABAMA Mcintosh 228.0 10.0 0 0.0 0 10.0 22.0

10 ALABAMA Arley 353.0 3.0 0 0.0 0 3.0 27.0

crime.sort_values(['F0|E",'?171%="], ascending=False, inplace=True)

crime.head(2)
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9259 WYOMING Cheyenne 62149.0 133.0 1 NaN 12 108.0 2065.0

9258 WYOMING Casper 58688.0 88.0 2 NaN 15 64.0 2036.0



df.groupby() &

2) 7| =&HE

[l

2
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1) ==& H|o|Eof| 23l H|olE ==

newdf=df.grouped([(‘#1491°, ‘#4e2’, ..]) - Elol= Al

newdf.first() - Zt 159| & ZEX| H0IE

state=crime.groupby('Z0|£")

state.first()

Al
sAolg  oR4 Eean S 22
0|8
ALABAMA Mobile4 250557.0 1541.0 29  88.0
ALASKA Anchorage 2994550 24350 14 408.0
AMIFALAILA DhhAAniv 4CcNN420 N nAnnN N 440 44N
state.get_group("H3")
state.get_group('WYOMING")
ZAl A 2
Foig  mMog  ews o Sz I omw
9259 WYOMING  Cheyenne 62149.0 133.0 1 NaN 12 108.0
as252 \WVYOMING Cacnar BKRRARRK N 282 N 2 NaN 1R RA N

ol

H=0f| 2

gl

crime.groupby(['2E8H+H").8A4 () 2

i S

2fF OOF
o L

=

« E72F mean, std, var, std, max, min, mode, skew, kurt, cumsum

state.get_group('WYOMING")

Z2A & 2 1
zoig  mMoig  ans o Sogn Zoge T
9259 WYOMING Cheyenne 62149.0 133.0 1 NaN 12 108.0 206
9258 WYOMING Casper 58688.0 88.0 2 NaN 15 64.0 203
crime.groupby(['F0|&")).quantile(q="?) ?%HJE 22| gt
» =0.75= SN=S 2t = 75% M =S1at
crime.groupby(['Z=0|£]).quantile(q=0.75)
0.75 olF4  EEAM &0l zt = =z
zo|8
ALABAMA 12005.00 47.00 1.00 5.00 8.00 30.25
ALASKA 7863.50 59.50 0.00 8.00 2.00 51.00
ARIZONA 47464.50 124.50 1.00 30.00 19.50 87.50
Qe EAE eks 2AM S 2[st QIEA B5) Hity




crime00=crime.groupby('Z=0|&").quantile(q=0.75)
crime00.head(3)

0.75 olq4 EAA Mol LY ZE  EZY xjihz

FO|IE

ALABAMA 12005.0 470 1.0 60 80 30.25 529.5
ALASKA 7863.5 595 0.0 8.0 20 51.00 258.0
ARIZONA 47464.5 1245 1.0 30.0 19.5 87.50 14745

ofl= 8lt

crime00.columns

Q9F H|0|= H|O[E{ =S EH ‘F0|5'0| QA O|F22 7} 0]
A

Index(['Q1715", "FHAR, "&el’, 2k, Z, ', MR, FAELY

r r

, name=0.75)

. OIEA O|EE H0|E2E of2{™ reset_index() AHEotH EICH
inplace=True= A7} HIZ S O|E2 = XMEEICE.

crime00.reset_index(inplace=True)
crime00.columns

Index([7F0|S, ‘R4, ‘BN, AOl, ATF, U, BY, Wik,
RHEL],
dtype='object’, name=0.75)

=AY,
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DF.head(n) - & n7H & X|&, DF.drop(n) - OFX|2F n7f & X|H

import pandas as pd
url="http://203.247.53.31/Stat_Notes/example_data/US_crime.csv'

crime=pd.read_csv(url, encoding="ms949’)

crime.head(3)

crime[0:2]

FO|E ZAO|E Qi EARH Ao A7t Z:  Z3  xfirz]
0 ALABAMA Abbeville 2645.0 11.0 1 1.0 2 7.0 63.0
1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0

DF.iloc[3 #15]

crime.iloc[0:2]

FOIE ZAOIE oy EAR 4ol Z ZE: =¥ xfiHEE

0 ALABAMA  Abbeville 2645.0 11.0 1 1.0 2 7.0 63.0

1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0

2 ALABAMA Addison  744.0 1.0 0 1.0 0 0.0 25.0
2) & QIE|A BHE (TR 3 M=)

FO|E SAO|E ol EIAH Aol A ZE:  Ed  xjirE
0 ALABAMA Abbeville 2645.0 11.0 1 1.0 2 7.0 63.0
1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0

DF.iloc[[&l #15, &itH5], ;] - & H1S7} LA ST} Ofl FL

crime.iloc[[0,2],:]

FOIE A0 o7y ZEEAI 4ol 27 ZE Zd  xfjirHz| 3
0 ALABAMA Abbeville 2645.0 11.0 1 1.0 2 7.0 63.0
2 ALABAMA Addison 744.0 1.0 0 1.0 0 0.0 25.0



crimeO=crime[crime.@l714>3000]
crime0.head(3)
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zan & 2 A
zolg  maoig  eas ool Boam T ogy A
1 ALABAMA  Adamsvile 44810 190 1 00 7 11.0 3210
3 ALABAMA Alabaster 31170.0 440 0 2.0 11 31.0 640.0
4 ALABAMA A'e"a”gi‘t"; 146920 119.0 2 160 12 890 661.0
o EAIE HL ZAHE 'S ALESHOF ST
crimeO=crime[crime.F0|£=="0H|0’]
crime0.head(3)
F0| TA0] ZZA Ao Z pUTN
AOE ame BT am 2oy WE
5828 OHIO Ada  5755.0 70 0 20 0 50 760
5829 OHIO Akron 198405.0 1570.0 23 160.0 528 859.0 9649.0
5830 OHIO Albany  877.0 00 0 00 0 00 220

crime00=crime[(crime.21724>3000) & (crime.ZZt>2)]
crime00.head(3)

ZgAb A 7 Abed
Foig  =aoig  wap oo Soam ZTogg MR
4 ALABAMA A'e"a”é’if; 146920 1190 2 160 12 890 661.0
6 ALABAMA  Andalusia 9079.0 340 1 40 6 230 491.0
7 ALABAMA Anniston 226480 461.0 5 39.0 78 339.0 1988.0
crimeO=crime[(crime.ZF0|&!='0HI0") & (crime.Z&7>2)]
crime0.head(3)
B Ak Z ﬂ-lﬂ
Foig  saoig  wme o 5 oma Zomw ML
4 ALABAMA A'exa"gif; 14692.0 1190 2 160 12 89.0 661.0
6 ALABAMA  Andalusia 9079.0 340 1 40 6 230 491.0
7 ALABAMA Anniston 226480 461.0 5 39.0 78 339.0 1988.0



DF.drop[[&l H1&, &S] - sl HST} SHRI HL
crime.drop([0, 2],axis=0).head(2)
ZAr & 7 Z X Ar
FO|IE ZAlO|]E  oR$ A ol ; c =3l ;I
1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0
3 ALABAMA Alabaster 31170.0 44.0 0 20 11 31.0 640.0
« axis=0= &2 20|, AFE5HA| 220t Ses A0E Y=L}
crime.drop([0,2]).head(2)
ZA & 7 Z A
FOIE ZAO|lE ol A o 7 & =3 ;I
1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 321.0
3 ALABAMA Alabaster 31170.0 44.0 0 20 11 31.0 640.0




df.drop(["HH1°,"HLH2’, | ], axis=1)
A (H2~) subset crime.drop(['&2I",'Z7t],axis=1).head(2)
1) ZQ e MEd
e FOIE  EAMOIE o4+ FEHAR ZE F¥E idE FEY
dff[HH=E1’, HEEH2, ] 0 ALABAMA Abbevile 26450 110 2 7.0 630  21.0
1 ALABAMA Adamsville 4481.0  19.0 7 11.0 321.0 580
df.iloc[;, [1, 3, 4]] - & QIHA &E

crime[['Z0|2', 91724 "= "]Lhead(3)  crime.iloc[;, [0,2,10]].head(3)

iR 27e T Fog oFs A= crime.iloc[[0,3],[0,2]]
0 ALABAMA 2645.0 39.0 0 ALABAMA 2645.0 39.0
1 ALABAMA 4481.0 252.0 1 ALABAMA 4481.0 252.0 Folg o3
2 ALABAMA 7440 17.0 2 ALABAMA 7440 17.0 0 ALABAMA  2645.0

3 ALABAMA 31170.0

df.loc[:;, [T, ‘W02’ ]

atof OlE|A #50} 0|2 (label)E EE10] AFRBICIH ilocTiAl ix AlS
crime.loc[:, ['F0|E', 274", E = "T].head(3)

crime.iloc[[0,3],['=0]|2" ‘o124  crime.ix[[0,3],['F0|&", '¢I74"T]

o]

Oju
re
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2
H

0 ALABAMA 2645.0 39.0 TypeError Trac
<ipython-input-90-b78b0a21296c¢
---=> 1 crime.iloc[[0,3],[F0|E", 2!
2 ALABAMA 7440 17.0 3 ALABAMA 31170.0

LR | I~ 1 Ir~ 1 r

70|
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Ol
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1 ALABAMA 4481.0 252.0 0 ALABAMA 2645.0
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ClIOIE 7] (melt)

http://203.247.53.31/Stat_Notes/elem_stat/Stat methods/Fastfoods_ Driv

ethrough.csv Ol|A| H|0|E

« S/ AERE M Cef0|EMXR O = MATK| ZEl AZH(E)

—

import pandas as pd
url="http://203.247.53.31/Stat_Notes/elem_stat/Stat_methods/Fastfoods_Drivethrough.csv'
fastfood=pd.read_csv(url,encoding="ms949’)

fastfood.head(3)

mojoX7! WA WEWE HHZ MoIjuA

0 150 173 198 158 289
1 197 95 131 195 273
2 186 154 158 177 254

fastfood2.head(2) fastfood2.tail(2)

XEY  AIZHE) XHE AZHE)

0 3C|a 173 198 H7HZ 154

1 #CA 95 199 H#HZ 202 MF

o=
rr

7|20| = AL id_vars=[] A2 7t

[

pd.melt(fastfood, id_vars=["&2=7|&"], value_vars=["4
22", var_name='id#+Y', value_name="42#4+H"

fastfood2=pd.melt(fastfood, value_vars=["®IC| A" 'B{HZ"],
var_name="A| &', value_name="A|ZH(ZxE))

Ol : http://203.247.53.31/Stat Notes/example data/US crime.csv

import pandas as pd

url="http://203.247.53.31/Stat_Notes/example_data/US_crime.csv'

crime=pd.read_csv(url, encoding="ms949")

crime.columns

Index(['F0|E", "=AIO|E", QU7 "FHARA, ‘Al 'gzb, "2, 'F&', THLrHZ|", FAHEY,

HE RFEE,
dtype='object’)

crime.head(3)

FOIE  EA0|E 974 EauA ol

oy

t ZE

i
S
=
%

0 ALABAMA  Abbeville 2645.0 11.0 1 1.0 2 7.0 6
1 ALABAMA Adamsville 4481.0 19.0 1 0.0 7 11.0 32

2 Al ARAMA Addicann 744 0 iNn n 1in N nn 2


http://203.247.53.31/Stat_Notes/elem_stat/Stat_methods/Fastfoods_Drivethrough.csv
http://203.247.53.31/Stat_Notes/elem_stat/Stat_methods/Fastfoods_Drivethrough.csv
http://203.247.53.31/Stat_Notes/elem_stat/Stat_methods/Fastfoods_Drivethrough.csv
http://203.247.53.31/Stat_Notes/elem_stat/Stat_methods/Fastfoods_Drivethrough.csv
http://203.247.53.31/Stat_Notes/example_data/US_crime.csv
http://203.247.53.31/Stat_Notes/example_data/US_crime.csv

crimeO=pd.melt(crime, id_vars=['=A|0|Z"], value_vars=[Z T’ 'Z3l],
var_name="AZ1L{ &' value_name="A}7171%")

crime0.head(3) crime0.tail(3)

ZAOIE AMZLYE ArdHS EA0|2 MUY A7
0 Abbeville g 2.0 18581 Torrington =Y 17.0
1 Adamsville AL 7.0 18582 Wheatland =1 11.0
2 Addison P2 0.0 18583 Worland =4 7.0

ClO|E] & LI+7| (pivot) - melt

df.pivot_table(index="2/=lA B’ columns="HF", values='58Y

)

- meltol] 2|3l EHXZI G[0|E] CRA| Lis7|

crimeO.pivot_table(index="=A|0| &', columns="AI7ILHE" values="A}7171%)

ARALHE pAL =¥

EAOIE

Abbeville 4.250000 35.500000
Aberdeen 7.833333 22.166667

Aberdeen Township  13.000000 6.000000

GIO|E{ stack(’27]) / unstack(LtS71)

df2

Stack

stacked = df2.stack()

A B second v
one A 1
B 2
1 2 two A 3
[ B 4
2 N one A 5
5 6 B 6
7 8 two A 7
B 8
L i | ! |
| 1 | |
Multiindex Multiindex
Unstack
stacked stacked.unstack()
—
second A B
one A 1
B 2 second
two A 3 one 1 2
B 4
one A 5 two 3 4
B 6 one 5 6
two A 7 - . .
B 8 °
1 L |
1 | |
Multiindex Multilndex
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